Angles in parallel lines with two transversals
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Angles in parallel lines with two transversals

1. Calculate the size of each missing angle.
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Angles in parallel lines with two transversals

2. ABCD has one pair of parallel sides.
Which two sides are parallel?

3. Calculate the size of angle x.

/N

Explain your reasoning.

A\ \B
78° 102°
650 . 125
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Answers
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Angles in parallel lines with two transversals

1. Calculate the size of each missing angle.
\ N
o b
73 a =107°

b = 82°

c=067°
d = 56°

g = 83°
h =62°

e ="72°
f=73°

62°
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Angles in parallel lines with two transversals

2. ABCD has one pair of parallel sides.

3. Calculate the size of angle x.
Which two sides are parallel?

Explain your reasoning. x=60"°

x
AC i llel to BD
is parallel to G50 55°
\e

A\

78° 102°

650 55 N\—~12°°

101° 79°

€\ v
The angles on each transversal through AC and
BD have a sum of 180°
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